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[l Phép nhan céc da thirc
Tén: Ngay thang: _ Diém:
(1-2(3x+8) (552 + 8+ 8)(2x + 1)
2+ 6P (x+8) (4x+ 1)(55 + 50+ 5)
(5= 9 (3x+9) (7" — 6)(3x + 6)
(2x— 8)(7x* —x— 1) 2 — 6)(7x—2)
(4x— (2"~ dx— 4) (7x* + x+ 1)(4x + 3)
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Tén: Ngay thang: Diém:

(1— 2 (3x+8)

—3x — 8% +3x+ 8

Q2+ 6 (x+ 8)
6x° + 48x° + 2x + 16

(5— 9% (3x+9)
—27x° — 81x% + 15x + 45

(2x— 8)(7x* —x— 1)
14x° — 58x% + 6x + 8

(4x— )2 — 4x — 4)
8> — 18x* — 12x + 4

(5x% + 8x+ 8)(2x + 1)
100 + 2152 + 24x + 8

(4x + 1)(5:> + 5x + 5)
200> + 25x% + 25x+ 5

(7% — 6)(3x + 6)
21%° + 42x% — 18x — 36

(2% — 6)(7x—2)
14x° — 4% — 2x+ 12

(7% + x+ 1)(4x + 3)
28x° + 25x% + Tx + 3
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